1M "7 0N R, PR L7"'02

And he returned and bought it — PR T

OVERVIEW

1M "M taught that if one partner is w>7pn his half of a 732 and then he buys
out his partner and is ¥>7n the other half; the rule is that this 7272 1s Fw7P
72p R and also that it is 72 X¥1D AnMam 7m0 aww. Our Moo will
explain why *"1 could not have offered a simpler case to state his point.

mMooIN anticipates a question:
— T8N NN DI YWITPNY POMY 1Y Y NNNA VPI XD HNPDY TN VPIT RN

The reason he mentions ‘and he returned and bought it from his
partner’, and he does not mention a case where there was a cow which
belonged to two partners and each partner successively” sanctified his

half of the cow; seemingly the same law would apply (namely; 72> 72X 7w1TR). Why
was it necessary to cite a (more unusual) case where a partner bought out his partner after
he was 7°¥n v 7pn?!

mooIn replies:
— 113 R85 NN NN NYIY DNN 7Y DT DIVN

Because in this suggested case, the ruling of 712 RX32 709N 7920 AR is

not applicable -
x0 q1 [©9N2T1] R1IP 79939 (x,3 47 NININ INTI 1595019 PPN POV

because partners cannot make 77%n, as the Twn states in 7mn noon

and in the first P92 of 23121 NO0M. And since 1371 'Y wanted to teach us also the rule
of 712 R¥YD 01N 77N I, therefore he needed a case where P 79,

SUMMARY
7OMY cannot make 777N,

THINKING IT OVER
Perhaps the reason *" cited a case of P21 771m (and then 7w>7pmM) to teach
us that if there was no subsequent 7w>7pm it would not become ¥17P on its

4
own.

"If he exchanges this animal with an animal of P71, both retain the same 7w17p; namely; 72°7p 7R TWITp.
*If the partners would simultaneously be w*Tp» the 72 it would be 712p. See 7"nx footnote # 197.

3 The nawn states there that it says (°,72 ["mpna] X1p7) that 9»° 91 139°5m K9 (in the singular), indicating that
only a 71> can effect 71770 but not (a 21X or) oMW,

* See 7"nK footnote # 195.
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